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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,

fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D & B A Questions / =Uix A
45 5 3 5 bGP sl 273 |
G.M. between 3 and 27 is :
100xesjed | & 3 ) ik
00+8% | £ edxO %, | x0T Frassjed sy iad NS e %T
110 52 P 100 £/ 47=£ | Profit % = ? where SP>CP :
100+ profit% 100 CP X CP
Jie i Ved UL s o 5|3
Radical Radicand Exponent Biice In 47, 4iscalled. : et ‘gbf/4uf 4
o, 5 . 4
(o) | oo | e | LA ot Lol
What are co-ordinates of origin :
. 3 Ny A AT AR
il “, o io .ujqfal“gt")/l)lf.’;ﬁbg:/‘,f S8
: K p N B Profi The amount which is paid by bank on the
Mark-up remium onus rofit deposit is called :
54 7.3 2.1 173 Share of sonand y(&ful‘guﬁ;ﬁw 6
' - daughter in an inherited property :
B-4 BAA Bu A4 ‘B4 AR B=7 ’
T 12 20 s e P 4w |
17 23 50 <100 | Lowest form of 48% is :
4 3 2 1 Characteristic of 5376.4 is : :c-~<b§5376.4 9
o 10
33%% 33% 30% . 3% —1— in terms of percentage is: {..J{’MEJ%
3
Sy Ao | Fee | FE o tel8duT o iz o | 1
Excise duty | Income tax Direct tax Sales tax | The tax charged on all the taxable income :
_4 +4 6 i :d/nc/gd/yé,!:x=—2 ?ny=2x/' 12
! Forx=-2,valueof yiny =2xis:
e U35 2\/§ 3] 6\/5 13
445 35 545 145 , LSRN a6
What is A.M between 6+/5 and 25 is:
3}@(/"‘/,;}"6@(&(4,51”6#” 14
20% 10% 5% 2.5% On a crop produced on artificial resources,
Ushr is deducted :
U-A U ¢ A AN A4=? e

177-024-1-(Objective Type)- 8750 (5263)




(2023-2025 & 2020-2022 ¥ ) (S g3t A,
GENERAL MATHEMATICS (Arts) Lo ts sy W0 Fudz
Paper : 1 (Essay Type) 024-1" Annual~(9" Class) Gl 280 1 ¢ 24
Time Allowed : 2.10 hours (s tg) 210 @ s
. = o y
60 : A& f

Maximum Marks : 60
(PART-1se>)
: of ez A L ey (6){4-3:( &
(i) Express the fraction g as a percentage. —;— : éd,i SwedS P J S @
-é(}”‘:ffju.l(ué:vﬁuée;.u 72 u"fédg.u 6 » Gi)
(ii) Find the ratio of 6 rupees each to 72 rupees per dozen.
FE Ly FSu o G

(iii) Define inverse proportion. :
YN0 11,10,000eA8 s i Giv)
(iv) Calculate zakat on gold amounting to Rs.11,10,000.

e P iness 490,000 A SIS S e Busg i Sl )
(v) Calculate ushr on rice crop amounting to Rs.4,90,000 produced by artificial resources.

| w8 22 (vi)
a8 3= (‘f (Y 480 =4io§,§"éf.~"’&:}d (vii)

(vii) Find sale price when CP = Rs.480, Profit = 3%
s S= 0 L9128 2edo Bln LEE 2y (viid)

(viii) Find selling price when MP = Rs.728 , Discount= 5%
w8 =oAL 1s515.20 = i ped Gt el e bt (ix)

(ix) Find marked price when SP = Rs.515.20 and Discount = 8%
12 3. Write short answers to any SIX (6) questions : 2 ez A L ey (6){:-&:( 3

M REXANY A I3 PN 6|
(i) Difference between savig account and fixed account,

e E K 16% e 20002352 G

16% sales tax on it.
Ew GBS Gid

12 2. Write short answers to any SIX (6) questions :

(vi) Define inheritance.

(ii) A light price is Rs.2000.
(iii) Define excise duty.

(iv) Simplify : o Vo' f—f_:/"" Giv)
3 1
x2 xx2 H é‘)ﬂ (V)

(v) Evaluate :

fog 52.13 :a@¥=d (vi)

c & i dE G
By JESHTY (k)
(ix) Find the 7" term of a G.P. 2, 8, 32, ---- T 22,832, e L3 (i)

12 4. Write short answers to any SIX (6) questions : : 2 Y 4 2L ey (6){:.(3f 4

—Z.i:r""(AuB)uC Jn C={3,4,57} fB={4,6,8,9}:A={1,4,7,8}/’1 )
() If A={1,4,7,8},B={4,6,8,9},C={3,4,5,7} then find (4U B)UC
ZrBxAAxBInB={1,3}-A={3,5,6}.1 (i)

Gi) If A={3.5,6},B={1,3}thenfind AXB,BXA .
“EE oy JEAE T Gii)
6,5 F(0,7) 5 (iv)

(vi) Whatis value of : fog 52.13
(vii) Write first two terms : a,=3n-5

(viii) Define life insurance.

(iii) Define onto function.
(iv) Represent the point F (0, 7 ) on graph.

( ﬁ'Jﬂ )

e i SR s L R



@ LR34

Edg st °C NAF culirk ) 4
4. (v) Convert 194°F in °C with the help of formula.

(vi) Define ordered pair. &y Y Seinz > (i)
(vii) Define arithmetic mean and write its formula, -2 /6! 2’_{.«3} 7 e bstdle (vii)
(vii) Find the range of data : 10, 18,9, 6,22 s e ol (Vi)

(ix) Find harmonic mean of 2, 4 and 8. -y (ool Ky AE 8 1142 (ix)

(PART-II 202 )
Note : Attempt any THREE questions . -a!.:,yxé.-,mmi :_.J:( 1L

Wt E K5Il & Eomp §otn Nl SUtUIn 2K LidsTe (O) 5
5. (a) 6 persons can do a job in 12 days. If 2 more persons are employed, how
many days will they take to complete the job?

ﬁ(ng,vég?ng/«é 2 u‘{gff!,?najhguf.:dz’yflS{,ag@/u,ﬁﬂvgﬁ («)
) -z_ﬂag:4.~2 Lt
(b) If 15% discount on MP of a heater is allowed and still makes a profit of
2%. Ifit is sold on MP, what is profit percentage?

AL ogugfl_db‘.f)l{fl?u(&:&dru 45,00,000 é’q.'.lé_,‘f;.«gl M 6

6. (a) A deceased left a property of worth -’:f’:/()’” 2 S L e
Rs.45,00,000. If he left behind a widow and two sons, workout the share of each.

ek losfd Lo 1% U fo I 4% £4-2,50,000 (&)
(b) Find the compound profit of Rs.50,000.at 4% for 1% years.

U oS K et 2816% 400l fioe e 104000 A0 ELGL (D) 7
e SR UK 302 172
7. (a) The price of a tricycle is Rs.4000. If 16% sales tax is charged, then
calculate the amount of sales tax on 30 such tricycles. -

(b) Solve with the help of logarithm table :  : Z:r S it Jugﬁ,'z £ ()
3.64x3.94

2.78

-zf_’.f(k*f/q,»mf@j},[%)3,@)3————%6‘? M) 8

9
8. (a) Findthe n™ term of an A.P. (2)3 LET ,[2]3 —_———
5 7 9
AxB ofi f={(@4),(b4),(c,) i B={246}A={abc} /i ()
-c".,c;“@B iu!A ‘r’ féc/t';ﬁbzdlcc
M) IfA={abc} ,B={2,4,6} and f={(4,(b4),(c,4)}
is a binary relation from A x B, then show that i/ is A into B function.
FE L C(1,8)MB(7,0)A(1,0) 16 (D)9
9. (a) Draw the graph by plotting the points A (1,0),B (7,0)and C(1,8)
GirssS S T(x-%) =184 cn=15 LUPirdn F ()
RS SO0y 1LY
(b) Find the standard deviation and variance for a set of ungrouped values
whenn=15, T(x—%)°=1444
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,

fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.

D C B A Questions / = uis B
6 +9 + %6 33 : LLgL/J L}/’UQ‘J}L— 12 -3 3
G.M. between —3 and ~ 12 is :

o =Sy fod > =3l < sied= 412
VUL L s sl a3 fed Profit is earned when : :flc‘;t'myb@“
Wahtofthese | gpogp SP <CP CP=SP

s . . (ZJKJJK Lk :ujgfgf//wiéfutlouw 3
JJI(}/A«' ~l s The 1 s lcul f] “q1 0
o Clonion ; 'he logarithm calculated to the base “10
Natural number | Characteristic ; Mantissa is called :
logarithm
; 4 w8 4
. e " i Th.f_mﬂ;.r/ @;?JL/;@:»MW K,;,h»u'(
: € summary statistics which measure the
Allof these Miediin Mosle Mean middle (centre) of the data is called :
7L Nld Sk | F Thetain e Fdmreilzg |
Excise duty Income tax Sales tax Tax addition to the price of the article is called :

e lne U UG |

Zakat is deducted at a rate of :

3.5% 2.5%

:Acz?;A={4}‘U={1,2y3:4}ﬁ ¢

{(1,2,3,4} {1,2,3}
; If U=1{1,2,3,4},A={4} then A°=7 :

, 3 8
I e Py U10%
10 Fraction form of 70% is :
/JJ"I #/ :wg”:cltgt’/’/blf/ﬁ ug/.fﬂ:iﬁl/g 9
Princival val p o B Profi The amount which is paid by bank on
rincipal value remium onus rofit deposits called :
1 l G . 10
33 E% 33% 1% 3% z in terms of percentage is: 4‘-J{/M£d%
)A&Juj ni Jﬁé‘ 2o w;{}@ Jf\/?_) 11
Natural number | Radicand Integer Radical In /3, 3 is called :
B 12
(L0 | | o) o) e
The co-ordinates of origin are :
. 3 — |13
2 21 30 24 e teddal Va6, L1 17,
For 2,6,11,17, ----- , 5 1S
1 1 ) 1 t e bt (o2 ot ) o ol o Buskas | 14
2 3 4 8 The share of widow in inherited property is :
‘ P AUB = - JUstir s B sl A I3
¢ Glas A Bu4 If A and B are two non-empty sets, then
AUB = ----
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A are (PART -1 Jsf2) ’ ~F
12 2. Write short answers to any SIX (6) questions : : a."ayz/“f Lty (6);3;..{}:( 2

(1) Simplify the ratio % : % in the lowest form. -é"jufjjuw'f—i— : g €)

(i) If 82% of the houses ¥t i s Sk E Sk o S 82% N G

have a television, what is the percentage of the houses which do not have?
(iii) What is difference between direct proportion ‘.‘c‘,J/'kfuiJ o~ st (i)
and inverse proportion? .
b S LS Iz g S ENL U 1 Sz 30.00,000 afeLii L Gv)
(iv) A person left a property amounting Rs.30,00,000. Calculate the amount of his wife,

if he had not any child. )

(v) Calculate zakat on sliver gk 5511, 300000 =Gt (V)
amounting to Rs.300000. _ . '“ B '

(vi) Write the rate of ushr if the -nJJ;}Kc,dusdJu:Jﬁa{ugc/‘J/“ (vi)

€ land is irrigated by natural resources.

i 8= w1 51520 = ped Bzt o dr it (ViD)
(vii) Find the marked price when SP = Rs.515.20 and Discount = 8%
b kB T 50 53850 14 UL 3450 KL (viih)
(viii) A bicycle was purchased for Rs.3450 and sold for Rs.3850. Find the profit percentage.
- B 12 = s, 2640 =i fed LRy Fed (0
(ix) Find CP, whegSRB=1Rg 2640 , loss =12% ’ . .
12 3. Write short 's to any SIX'(6) questions : :éowi/‘? L ey (6)4544}:( 3
oL o BRI LI r 2 1000858 For Lie T Ftsd 104701 G

(i) If we invest Rs. J§00 Ngg# saving account @ 10% profit per year. How much would we

have in one yeal . »
(i1) Define income t -é..y/ d/;/‘;//f (i)
e w3 0if 1, 5,00,000 23S KNS b S00 457 L1k 150 ped SKL i)
(iii) 150% excise duty would have to pay on car. If price of car is Rs. 5,00,000, find the
total amount to paid.

Giv) Simplify +/ (a”h?)® with positive indices. be S izaZE 2L @) (V)
P 21 v

I 3 1 3 5
(v) Simplify : 28x28, 28x28 : g;f/;' )
8 8
. ; ] ) Fu 32 w7 2.61x4x10 _
(vi) Simplify 261);;1:10* and write ,éufff/o’”vmé/‘;f——é—?—();—*— (vi)
answer in scientific notation.
(vii) What is arithmetic mean? Also write its formula. S U//G?c‘:,:l/y/c,bnd‘f (vii)
(viii) Write first two terms of sequence a, = 41 -2’."}51»%6 a, =L L i)
2n+3 . = 2n+3
(ix) Find 5" term of a G.P. 4, 12,36, -&Ep#Pafid 4,-12,36, - Jbd (0
12 4. Write short answers to any SIX (6) questions : ZJ:«U:‘!/‘? L =iy (6)%’:—‘3:( 4
' e BAB I B={9,10,11,12,-—-20}U={1,2,3,--~" 20} )1 (D
() HU={1.2 3 -~ 20}.8;“{9,l().ll,l2.—--—20}then find BN B’ ‘
(ii) Define universal set. -éb@‘/}.é/(_’{fufg YerdEs (i)

PR T
(AN ) )
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Q) AHP— Y
SEek AxBIn B={x,y,z}A={1,2,3} )1 (i) 4
4. Gii) f A={1,2,3}, ~{x,4,/}thenﬁndA><B
(iv) Represent the pomtB(-~5,—l)on graph. -é/"\b{,bj'//}J/B("s,“"l)ﬁj (iv)

(v) Define cartesian plane with the help of figure. _Zjil’/r&f/:lé.@fd/dﬁ“‘d;/( (v)
U st °C S127°F csadir b (Vi)
(vi) Convert 127°F in °C with the help of formula.
(vii) What is commulative frequency polygon or ogive. Cesi Ve b F 5584 (vid)
(viii) For the data set, find the median : 6,2,4,3,4,5,4,5 : &= bosbirLoir (viii)
(ix) For the set of values, find range : éf}”&}/“i Lerlyi? (ix)
6,8,13,11,18,27,23
(PART -1l 52.2>) )
Note : Attempt any THREE questions . é...«l.li[.uﬂlruf 4-_(}!/ <

oL A B E 12 cornSus 18 -2 &5 560 U7 G LiesaSusE20 (D) 5

5. (a) A factory makes 560 fans in 7 days with the help of 20 machines. How
many fans can be made in 12 days with the help of 18 machines?

KL & sl qu" PPy e K&%’if {fﬂC}/ u"u;/l)&u’Lu:’)TZO (w)

(b) Rs.3720 are to be distributed into three shares in UL u/ T lféL
such a way that 1*' share would be double, triple to the second and
5 times to the 3" are equal.

Jl,vlaJﬁ(yﬁ/cwub’urdu;gJVumtf*uLhu’uﬁé c.—lé_gfi.f'/ (M 6
6. (a) Ifadeceased &2, 48,00,000 SO ey gty

person left a widow, a son and two daughters calculate the share of each.
If the wealth left by him amount to Rs.48,00,000.

LN S5 oL fidi/ﬁ;/lJ/JéJu_ms 00,000 £ ()

(b) Raheel insured his -».20-10% C/Ju‘ u"ux’/érr"‘(é fJblu"JVS
house worth Rs.75,00,000 @ 2% for 5 years. Calculate the amount
paid in 5 years while the rate of depreciation is 10% yearly.

et JE I L3S0 50 2ii6% U ASUE A S e o 3500 230D i (0) 7
7. (a) The price of a bicycle is Rs.3500. If 16% sales tax is charged, then
calculate the amount of sales tax on 50 such bicycles.
(b) Using logarithm table , evaluate : P S S s JJW/M,J (<)

.;)4-><3.142><(1.5)2

-Z{r’}b/hﬁd‘?cj{dk‘ﬂé 63 i 3 (B5) 8
8. (a) Find three A.Ms between +/3 and 9+/3
I C={4,6810}sB={3,6912} A={246}.)1 (L)
AUBUC)=(AUB)UC Zael
() If A={2,4,6} .B={3.6.9,12} and C={4,6,8,10}
verify that 4AU(BUC)=(4wB)UC
9. (a) Draw the graph : y=2x+3 IZ;f/J’// M) 9
LR A 62,3,6,8, 11 s ()

(b) Find the standard deviation of the values 2,3, 6. 8. 11

san T 1A0000

L T ST, N



